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(A) FERAREENXERIRSEFIMNER K NEEEE
e, atio<e<t, {5 S w g
(B) EMAIIR ¢ = 0.5(3 = 60°) B
K RER AR AN E \
B A2 = —Ewp £ VT — &y !
HRZF C=0-2—4=—6=—2tw, + A3 .
As = —6+ 26w, = —6 +wy, FA: di A
D(s) =s(s+2)(s+4)+ K =5 +65+8s+ K —Ewy
= (5= A1)(s = A2)(5 = A3) = (% + 26wns + w;) (s + 6 — wy)
= 83+ 65 + 6w,s + w2 (6 — wy,)

Hed 254
K= K*/8 =1.0375
" RS - n Ao = —0.667 & j1.1547
2(6 — .) = K* - 8. 1,2 . JL-
wn(6 — wn) K =83 A3 = —6 4w, = —4.667
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(C) H A3 =58, Ao =7 1HN K =7
D(s) = s + 65° + 85+ K*
£ +s4+3
$+5/83+65 +8s+ K*
s + 552
s+ 8s
s> +5s
3s+ K*
3s+ 15
0

= K* =15, D(s) = (s+5)(s* +s+3)
A2 = —0.5 £ j1.6583 "
K* =15

K= K*/8=15/8 = 1.875
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